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QUESTION 1

Consider the following scenario for your database: 

-Backup optimization is enabled in RMAN. 

-The recovery window is set to seven days in RMAN. 

-The most recent backup to disk for the tools tablespace was taken on March 1, 2015. 

-The tools tablespace is read-only since March 2, 2015. 

On March 15, 2015, you issue the RMAN command to back up the database via the Media Manager 

Interface. 

Which statement is true about the backup of the tools tablespace? 

A. The RMAN backup fails because the tools tablespace is read-only. 

B. RMAN skips the backup of the tools tablespace because backup optimization is enabled. 

C. RMAN creates a backup of the tools tablespace because backup optimization is applicable only for the backups
written to media. 

D. RMAN creates a backup of the tools tablespace because no backup of the tablespace exists within the seven-day
recovery window. 

Correct Answer: D 

 

QUESTION 2

Automatic Shared Memory Management (ASMm) is enabled for your database instance, but parameters for the
managed components are not defined. 

You execute this command: 

SQL> ALTER SYSTEM SET DB_CACHE_SIZE = 100M; 

Which statement is true? 

A. The minimum size for the standard buffer cache is 100 MB. 

B. The maximum size for the standard buffer cache is 100 MB. 

C. The minimum space guaranteed in the buffer cache for any server process is 100 MB. 

D. The maximum space in the buffer cache that can be released for dynamic distribution is 100 MB. 

E. The minimum size for all buffer caches is 100 MB. 

Correct Answer: A 
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If SGA_TARGET is set: If the parameter is not specified, then the default is 0 (internally determined by the Oracle
Database). If the parameter is specified, then the user-specified value indicates a minimum value for the memory pool. 

 

QUESTION 3

Which two statements are true about a multitenant architecture? 

A. Each pluggable database (PDB) has its own initialization parameter file. 

B. A PDB can have a private undo tablespace. 

C. Log switches occur only at the container database level. 

D. A PDB can have a private temporary tablespace. 

E. Each PDB has a private control file. 

Correct Answer: CD 

You are only able to switch the archived logs when you connect to the root of a CDB, but you cannot switch archived
redo logs when connected to a PDB. You can able to create a PDB without temporary tablespace but not able to make it
use the temporary tablespace of CDB. 

 

QUESTION 4

You are administering a multitenant container database (CDB) cdb1 that has multiple pluggable databases 

(PDBs). As the sys user on cdb$root, you execute the commands: 

SQL> CREATE USER C##ADMIN IDENTIFIED BY orc1123; 

SQL> GRANT CREATE SESSION to C##ADMIN CONTAINER=ALL; 

SQL> GRANT CREATE USER TO C##ADMIN CONTAINER=ALL; 

Which two statements are true about the c##admin user that is created in all PDBs? 

A. It can create only local users in all the PDBs. 

B. It has a common schema for all the PDBs. 

C. It can create common users only when it is logged in to the CDB. 

D. It can create only local users in the CDB. 

E. It can be granted only common roles in the PDBs. 

Correct Answer: BC 

 

QUESTION 5
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You enable Flashback Data Archive for a table for which you want to track and save all transactions for four years. After
some time, the requirement changes for keeping transactions from four to two years. You execute the following
command to change the requirement: 

SQL> ALTER FLASHBACK ARCHIVE fdal MODIFY RETENTION 2 YEAR; 

What is the outcome? 

A. An error is returned because the retention period cannot be reduced 

B. All historical data older than two years, if any, is archived to flashback logs and the flashback archive is set to new
retention time 

C. All historical data older than two years, if any, is purged from the flashback archive FDA1. 

D. All the flashback data archives are purged and the subsequently created flashback archives are maintained for two
years 

Correct Answer: C 
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